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sin(—6@) = —siné
cos(—0) = cosb
tan(—0) = —tan®

sin?6 + cos?6 =1

[RZEE]

a® = b? + c? — 2bc cosO
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sin28 = 2sinBcosb

c0s260 = cos?6 — sin?6

= 2c0s%0 — 1
=1 — 2sin%6
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b = c cos6

a = c sinf

LT,

C ZT“E‘ZC =mgo

ISR

xEHAMDA © —mgsind
yENAME DA © +mgcosh

EKRF B,

(3 L DAK]
IEEE

sin(a + B) = sinacosf

+ cosasinf
sin(a — B) = sinacosf

— cosasinf
cos(a + B) = cosacosf

— sinasinf
cos(a — B) = cosacosf

+ sinasinf
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sinA + sinB

g AtB A—B
= 4iSln ) coS 2

sinA — sinB
A+ B

, A-B
= 4CO0S ) sin 2

cosA + cosB
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= 200S——C0s—

cosA — cosB
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= sin 2 sin 2

BERAR (INHIMEEED
NS AT LELY)

\Ja?+ b2

¢

b

asin@ + bcos6

=+ a? + b?%sin (6 + ¢)



